R:\Clients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, FL-16437.6

2501 Northchase Pkwy SE
Wilmington, NC 28405

"HH6-PCD" STEEL DOOR
w/ SIDELITE

OUTSWING

"IMPACT"
GENERAL NOTES

. This product has been evaluated and is in compliance with the 5th Edition (2014) Florida

Building Code (FBC) structural requirements including the "High Velocity Huricane Zone" (HVHZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

. When used in the "HVHZ" this product complies with Section 1626 of the Florida Building Code
and does not require an impact resistant covering.

When used in areas outside of the "HVHZ" requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact resistant covering.
This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM E1996 and
Section 1609.1.2.2 of the FBC.

5. Site conditions that deviate from the details of this drawing require further engineering analysis

by a licensed engineer or registered architect.

. This product does not meet the water infiliration requirements for the "HVHZ" and shall be
installed only in non-habitable areas or at habitable locations protected by an overhang or
canopy such that the angle between the edge of canopy or overhang to sill is less than 45
degrees.

7. All steel shall be protected as specified in Section 2222.6 of the FBC.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures, & general notes
Door panel details

Elevation

Horizontal and vertical cross sections

Horizontal and vertical cross sections

Anchoring details

Anchoring details

Components

Bill of materials and components and glazing detail

OO ||| WIN|—

e > 2
$87 ., |u%% ¢
-0 S PETE
L H RS i SR
=%s3 2 SQ'.-\O:&* 2
- . o ~ 0
25, | SRS Z San
Y, Ttteeeesesd 0&\\\ Hoon
96" MAX O.A. FRAME WIDTH “y, XKPRW g7 8
A It Zono
o om z
n>]\ . O 0: i
Llpg 2325
~—— 40.75" MAX D.L.O. WIDTH —| NgEg 5%,
N|g gy So9a
\ L o _? Do
2L |
T
3 .
/ i R
A m
a d b=
<C oy
& & | 32
£ S [ ES
| L m a%
= = — L = -
O = S |dH Ty
T O T |9 u&
1T} L - < <>
= - 5 x| OO0
\ ol A
= ) = =
o i o =
= X O s - %
& = >
O =) i m
% P
=
&
)
Pz
o
/ =
j ]
VA g
/4
/
\
4
<t
0
~ MAX. | DESIGN PRESSURE (PSF) =
overAl } owe: 8/31/15
_ DIMENSION | POSITIVE | NEGATIVE SCAE. N.T.S.
., ., DWG. BY: JK
96.0" X 98.0 +65.0 -70.0 CHk. B:  LFS
DRAWING NO.:
FL—18506.6
SHEET _1 oF _9

© 2015 R.W. BUILDING CONSULTANTS INC.



RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, 2.6

LLs

\\“::!' $4
\\\\ x Hbs
N JRTTLIINM )

5
)
S
N

TEEL SKI /
STEELSKIN S NS
SQ- 'ﬁ{, o
S8y 3 |s4Vz 8
=g 3 8: 155 1
=9 z0is o B8 .50
Z o fasl o
N e e ,,, }"" ..... \\\ E ‘g % g
% eecensee] > HDoeow
47.75" MAX. U, X =1
PANEL WIDTH A2 anrm Zons
q C2 LOCK L 5 gn.2z
+ O o
| FOAM CORE BOX NEREEL
i | wiz £2 §°% 2.
L NS S
] N /2" HORIZONTAL CROSS SECTION gu MY
{_2_/ Door panel STEEL SKIN 5 o §
_— 3 O .
© CL
§8 &
o
5 ‘ 425" i }— 691"
— ~
O 0 N ! %
i3 % : } | | E
N0 -
X — i - 1
2 i S HEE
< . < w |3 &
= aH Ll = A n
in &N T |2 o
10 BOX CHANNEL REINFORCEMENT N . 5 x &
] \_ A80 Galv. Steel (15 LONG) = 2 ©
o
HARDWARE EXTERIOR INTERIOR 2 <
CHART .
425" >
—_— ‘ | | 1
! } 3.53"
i 3 @ LOCK BOX
o —
5 \ : | @ .
—| =049 @ 2
!
[ad
RIB STIFFENER
Ab0 Galv. Steel
@OPAQUE STEEL DOOR PANEL
_ o 1.66" ——
STEEL DOOR SKIN: 16 GA. A60 GALV. (min. 0.058" THK. , Fy = 48,400 psi min.) . iy ] B
CORE MATERIAL: EPS Foam (Polystyrene - 1.0 PCF Min. Density) ~ Q ? 1.66" — 3
[en] O o .
. HARDWARECHART
S s SO IS m } L DATE: 8/31/15
MANUFACTURER i MODEL Gl '7 g owe. BY:  JK
T @ TOP CHANNEL BOTTOM CHANNEL CHK. BY: LFS
HAGER LEVER: 3500 SERIES ‘ A40 Galv. Steel (:) A80 Galv. Steel m VERTICAL CROSS SECTION DRAWING NO.:
DEADBOLT: 3200 SERIES \.2_/ Door panel FL-18506.6
SHEET _2 ofF _§

© 2015 R.W. BUILDING BONSULTANTS ING.



TAN| BINVATIOSNGD aNiaing "M's S 102 [@)]

€186 'ON V'O 3d€d SNOISIATY TN
L616'6G9°CL8 "ON 8uoyd Ad o) © |y
. S .
G6SCT 14 ‘OOUIPA ‘0T xod .O.&\S~ NOLYAT ﬂ m M rfr._ % F_
mﬂ_— ‘SINVLINSNOD ONIQING ‘A1ENISSY 0 1dvd - . n]°
i 11, M=z g ®
//// J(ZO\ G WW o w 1}
SeN?......... 180, 60¥CH ON ‘I'd SS3YdX3 AWH NEIE IR
Il/&/ .....AOEOMQ..... \\\ IPIWYDS 4 UOPUAT] g2 % W W o W
UI%.... d40 3ivis .... - Ag pesodeld sjuswinoseg 11.0NaoHd S|8|8|5(8 [
34 10z 5/
¥ ¥ i¥z 4
T % eoveroN /.unlv\m.
b * o ~
- . o ~
7 e eNaoN A &
\\\\\&Q\.\Mm ......u.W\/////
\\\\ Iow ////
TN
o™ <
Ny 12
////
///
© N O <= ~
N
o< //
~
o
<r = X 5 bl
D

9'¢ 'BMP'£-5'90S8T-TA\BTOZ) XXXX TA\sBuIMeIq - D\- TALNINVINYI 55210x3 JNH\SIUSIDNY



RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, 4.6

1-1/2" MIN.
EMB. (TYP.}

NOTES:
1. Spot weld anchor bracket to frame:
2 welds per flange (4 total per bracket).

1-1/2" MIN.
EMB. (TYP.)

4/

INTERIOR

\

EXTERIOR @

/"2 HORIZONTAL CROSS SECTION

EXTERIOR ®/

/"1 "\ HORIZONTAL CROSS SECTION
4

4/

i

1-1/2" MIN,

EMB. (TYP.)

7

/4 \ VERTICAL CROSS SECTION

4/

1/

EXTERIOR

INTERIOR

BTG

/"5 \ VERTICAL CROSS SECTION
\4/

W) YL
W x ’//,
\\\\ JRTLITIN | ”,
- *a (s
\\Q«'.. . 2 2]
A - 2
~ . P 0
= 3.3, 2 k4,2 B
= X: oy 8 2‘-_1) ()]
= O v K g: 22 o~
ELAC W 850
.e . Sy -
< W, ‘HPIE g
- >-. ..‘%\Z'Oo;p)
AR QQ/\\\ E 9%
, Q se®
//,” ' ¥ P\\FS\\\\ § i
o
. 5R8®2
Lz O
Ve o x2%
4 X o 3
: N\ ~ E fo Z m ° o
TN 260 9 . cu
®EsE 50284
L TE DaoL
2L,
=
£ 0
C) |3 L @
& X
3
©
0 EZ2
ol
i 32
& B2
SEE NOTE 1 (TYP.) & > )
B F
L = }s%
= L(}," Z 5
X %) Str
<| NG
CE
5 o T
o
o) &
x <
O o
>_
o
4
INTERIOR o
0
=
G
e
b
<
o
o
“ zZ
~
< oATE: 8/31/15
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—18506.6
SHEET 4 ofF 9

© 2015 R.W. BUILDING CONSULTANTS INC.



RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, 5.6

INTERIOR

//
/4

MORTAR REMOVED
FOR CLARITY.

INTERIOR

EXTERIOR

MORTAR REMOVED
FOR CLARITY.

/~2"\ HORIZONTAL CROSS SECTION @
S5/

INTERIOR

\\

0

K

A

N

~

\\

EXTERIOR

—MORTAR REMOVED
FOR CLARITY.

INTERIOR

7

MORTAR REMOVED
FOR CLARITY.

EXTERIOR @

@ HORIZONTAL CROSS SECTION
5

EXTERIOR

@)

\\\\\& T "'.&/ ,,,/
SQ¥ X% 8
S’ 4 &Yz 0
3 3 &% 2"
O Yk [EEZ= .
=®i3 ¢ |REEQS, N0
25 LSBT ':‘:: $am
7 . nd N N e~
// CTPPPTL N 5 CRGR)
g “,, % P !\\\\\\ 3 .n°
g ! a4 arnmy s Zowm o
E 4 . oM pd
- < & S
J Ve 0323
N N2 Eg g o ¢
\ W\ [-% -go s N c
: — = g ag 502 &
Z o @\\ LT ool &
P 2w,
&g S PRI
7= § 2
o TN
\ o o
MORTAR REMOVED
\@ — FOR CLARITY. .
S
Ewn
0 55
EXTERIOR SEENOTE 1 (TYP.)  INTERIOR % SR
g | 92
> 73 %)
Li Jo g:-'m
2| =
= |g| &S
T |2 8&
/~3\ VERTICAL CROSS SECTION 5 % &
2 P
o] o
2 <
a 2N
SEE NOTE 1 (TYP.) X
EXTERIOR
INTERIOR
w
=z
)
)
>
L
o
A bl
. <
< [an]
<
o
=z
oate: 8/31/15
"4\ VERTICAL CROSS SECTION soue N.T.S.
DWG. BY: JK
CHK. BY: LFS
NOTES: DRAWING NO.:
1. Spot weld anchor bracket to frame; FL—18506.6
2 welds per flange (4 total per bracket).
SHEET 5 oF 9

© 2015 R.W. BUILDING CONSULTANTS INC.



RaClients\HMF Express PERMANENT\FL \C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, 6.6

CONCRETE ANCHOR NOTES:

fndl ]
1 T

25,05~ 25.25" —wf=— 2525" —~]
e
fass!

HINGE JAMB

—— 8" (TYP.)

8" (TYP.) —=

16" MAX
0.C.{TYP)

- 8" (TYP.)

¢ MULLION
13" (TYP.)
8" (TYP.) "”
’ / 3" (TYP) | =t ‘
[+ I 1 I | .
== —| T
o
— —_— e
o)
TYP. @ HEAD
& JAMBS
—_—  TYP.@SIL TYP. @ — =
I_‘;Z SIDELITE [y
: ‘. SILL e
| L A—
PRTE \ . J }
12" (TYP.)
FRAME ANCHORING
Masonry Construciton
Concrete Anchors

. Concrete screw locations may be adjusted to maintain a minimum 1" edge distance to mortar joints. If

concrete screw locations noted as "MAX. O.C." must be adjusted to maintain the minimum edge distance
to mortar joints, additional concrete screws may be required to ensure the maximum on center dimension is
not exceeded.

2. Concrete anchor table:

ANCHOR | ANCHOR |ANGHOR | » i oo i i epeel  pN
ANCHOR | ANCH NCHOR | MANUFACTURER = |07 EUE | MIN. -~
- TYPE {LOCATION' SiZE | =~~~ | DISTANCE | EMBEDMENT

JAMBS 3/8"  |LDT TAPCON® (ITW BUILDEX) 3 1172
CA%"'CC'%;E TAPCON® (ITW BUILDEX)
. | ULTRACON® (ELCO) )
SiLL 1/ . /4
SCREW CRETE-FLEX® (ELCO) 2172 1-1/4
TAPPER+® (POWERS)
COMNCRETE DYNABOLT SLEEVE ANCHOR®
SLEEVE 3/8" /4 42
Ao | TAMES /8 (ITW REDHEAD) 2-1/4 -z

. k

48"

STRIKE JAMB

P9

\
\\

STRIKE DETAIL

S

T
AN 17,
\\\\\ t //,

N

AN

S . /)
SO "% o
s & 5 oz 2
:%3’ § 36".)’5)-;?)
=3 ¢ |B&iSI.To
W SOSE g0
D Y SOSZ8am
/, -.... .....'&\\\ 'S ~nr-
%, LRl 3898
annt ZJng
b oA ':z
<l 5 o x2<
MNX[EE, 28509
§ Eo 500
Q\ a 50 9 e
A 502k
LT Do
g,
c o]
T
3 0 .
Pl R
a 2o
w
=
<
% 5
e | 2
PN
5 |g 2
w |3 S
= |o &
T |98
§ o
o &
& <
a a
>_
m
»
=z
@)
v
=
(WY}
/ i
/4
'\\
1 o~ \§® g
o
Z
Y/i oaE: 8/31/15
17 scate:  N.T.S.
DWG. BY: JK
HINGE DETAIL CHK. BY: LFS
DRAWING NO.:
FL—-18506.6
SHEET 6 oF 9

© 2015 R.W. BUILDING CONSULTANTS INEC.




RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, 7.6

G MULLION
13" (TYP)) -
8" (TYP.) —= - —— 8" (TYP))
3" (TYP.) —=
b
8 |
g ©
¢ TYP. @ HEAD Y
5 529
o 2o
ZZ 5
‘ 00«
1 33 f EZD
= o U :
1 TYP. @ JAMBS o 20
. o |
o
S & TYP. @ SILL TVP. @ f
{ SIDELITE o
T £33 SILL |
i ant Il i i L]
; ( “ “ o 'A : " [+°4 %
—— =" (TYP) 5Zp
12" (TYP.) 552
Z ==
HINGE JAMB FRAME ANCHORING <50
Masonry Construction 2o ;
Masonry Anchors «Z

CONCRETE ANCHOR NOTES:

. Concrete screw locations may be adjusted to maintain a minimum 1" edge distance to mortar joints. If

concrete screw locations noted as "MAX. O.C." must be adjusted to mainfain the minimum edge distance
to mortar joints, additional concrete screws may be required to ensure the maximum on center dimension is

nof exceeded.
2. Concrete anchor table:
ANCHOR | ANCHOR |ANCHOR | v | MIN.EDGE| MIN.
ANLHUR ANV ANSIER L MANUFACTURER |- O B
_ TvPE lOCATION| sz | T TT T | DISTANCE | EMBEDMENT
JAMBS 3/8"  |LDT TAPCON®(ITW BUILDEX) 3 1-1/2"
CA%NC%'EE;E TAPCON® (ITW BUILDEX)
« |ULTRACON® (ELCO) ) :
SILL 1/4 ) /4
SCREW CRETE-FLEX® (ELCO) 21/2 1-1/4
TAPPER+® (POWERS)
CONCRETE DYNABOLT SLEEVE ANCHOR®
SLEEVE AMBS 3/8" .1/4" a2
ancror | "% | 4w REDHEAD) 214 1z

? S

\
\

STRIKE DETAIL

STRIKE JAMB

(7)

7.69"

\\J 77
\\\\\ * I/’/
& e T,
\\& "’ -... /G,/
SO gz o
< \Q:’ ‘.%\; )]
Sy 8 gtz B
= XI: 3 a: é-’_p 5]
=0 - *x |k g-’zi =N
Em" 2 glz’:'oi,; “o
- ‘.- 0 Ny d -
A SoOSE g
% > ST
/, ALTPRUPRRY. o &\\\\ 5 o CO_ o)
//, Pw\\ 5 > %) )]
e AR
. &5R22
o O N O{
-
MpE o 28%0¢
\N|§ Eoa 500
m a £0 M5 . cuw
£HY 502§
¢ 7Y madoi
2w
E _ ¢
g 52 §
3 0 .,
g su
a 2o \QD—;
)
=
<<
% &
<
o
S8 2
. T S
¥ S |onl T
I ‘{2 Q
= o
§ o)
S e
& &
v >
n
%
Z
o
%
o
//
77
o=
® L
= k Lot
° R N =
|- - <€
AT @ |||
o
21 =
Y/, oate: 8/31/15
/4 scae:  N.T.S.
DWG. BY: JK
HINGE DETAIL CHK. B8Y: LFS
DRAWING NO.:
FL—18506.6
SHEET 7/ oF 9

© 2015 R.W. BUILDING CONSLLTANTS INC.



"ON SANVATINSNDOD aNIigiing

M S LOZ O

IRARNEN]

€186 ‘ON V'O 3dg4 SNOISIATY
L616°659°CL8 'ON ouolyd A8 31vg [ON ©
GBSEE 14 ‘OOUIDA ‘OST Xod ‘O'd \SV SININOINOD m uiX 21 © 9_
VAl | [SLNVLINSNOD oNiaTing @ A1NISSY b0 [9vd e = 315
WS VNG, N
///ank@....::....\.m%\\\ 60¥SHY "ON "I'd SS3HdXI INH o &5 sle !
///@ 0 NOWOZ, &\\\ IPIIYDS "4 uopukd wlYlgl 2R
%.ﬂ. 403lvis ....OW\\k :Ag pesddesq syuswnsog 110NJ0¥d SIG1E|3S m %
W HvER T2
, 86 -
g
S
S
O
3 2
DS &
| 29T =
:N|'Y
R ‘;{..M”Q.O
~
%3 r
— W
=
r g
3
e b~
i w f 0 - N ) m
o ot » o
S = g Nia4 2
» [V © — bl ._.VN.M m
in i~ N -— L w
m % " ﬁNU
L | °0° ° °0° | &
=
A * o] o) o o o) o) m
®
o~
:WN.W =
Al ._O— o
SS T
WS¢ —
- [7e]
| g H ah g
5 C AL/ 2
hU. :m”.v..v O oD
= @ ) e
= & © =
Q in o
X
. (= oy 5
3 @ ) 2
‘ /,\../ Rm
Q|
| N 52
:WQ m—n/u. MW
e % | P
t:w;.Q%
o //
| & =
!
L | M.O
1 *
R g e 0y
e - ; - 38 T
i d L
(o) o
— &
o o o o o o 1 = N
W ac -
e o o) o) e o i 8 ~
a
| | +
ma MuL :m@.N 1 “ # — = @ —
L. SLe el F EOR— Y] ]
-_mN-w :N gl

9'8 ‘BMp7-6'9058T-14\PT0Z) XXXX 14\sBumeiq -

O\ TAALNINYINY I $524dX3 JAH\SIUBIDNY



R:Clients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.5-7.dwg, 9.6

BILL OF MATERIALS
ITEM DESCRIPTION MATERIAL

C | 1/4" MAX. SHIM SPACE }

D | 1/4"X 2-3/4" ELCO OR TW CONCRETE SCREW STEEL

MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI

E | 301 OR HOLLOW BLOCK (GROUT FILLED) CONFORMING TO ASTM C90 CONCRETE
R [1/2"X 1-3/4" PFH CONCRETE SCREW [SEE CONCRETE ANCHOR TABLE] STEEL

1 [ 3/8"X 5" PFH DYNABOLT SLEEVE ANCHOR (SEE CONCRETE ANCHOR TABLE] STEEL

M [3/8"X 5" LDT TAPCON CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL

1| STEEL DOOR PANEL i

2 | GLAZING BEAD STEEL

3 | #6 X 1-1/4" PFH SELF-DRILLING TEK SCREW STEEL

8 | DUSTBOX STEEL

9| ANCHOR BRACKET STEEL
10 | #12-24 X 1/2" PFH MACHINE SCREW STEEL

11| #8 x 3/4" COMBINATION WOOD/MACHINE SCREW STEEL

16 | ANSI LATCH STRIKE STEEL
17 | DEADBOLT STRIKE STEEL

19 | DEADBOLT STRIKE REINFORCEMENT STEEL
20 | WEATHERSTRIP (HAGER #720) NEOPRENE
21 | 41/2°X 41/2° X 0.125" HINGE STEEL
22| DOOR HINGE REINFORCEMENT STEEL
24 | MULLION - 16GA (0.055" THK) STEEL
25 |HOLLOW FRAME (2" JAMB] - 16GA (0.055" THK] STEEL
26 | HOLLOW FRAME (2" HEAD) - 16GA (0.055" THK) STEEL
28| FRAME HINGE REINFORCEMENT STEEL
30 | MASONRY T ANCHOR STEEL
35 | WIRE ANCHOR STEEL
40 | THRESHOLD (HAGER #5205 ALUMINUM

1/2" GLASS BITE‘I l— — 5/8" THICK GLASS

1/4" ANNEALED GLASS

DOW 995 ~ |

SILICONE 1/4" ANNEALED GLASS

2.5" FROM ENDS & 8"
MAX O.C. THEREAFTER

G1 GLAIZING DETAIL

0.090" SAFLEX PVB INTERLAYER

A1)
\\\\\\ x ,I’//,
S & N,
§\°...o' '.... /” g
-~ 5 % : mn
31 s 255
zoid EES= ..
Z0:5 Bai§3; =0
v, SOSEJ0
“ )‘- SO>S Z2am
,’/, ) ':0.&\\\\\ E T9®
,,/I, \\\\\ (:/)) >. 2 O
in Mgy 5gwg
| 5|| d g« O N ;): B
N ) pE 0 23%S
2 :8 é . 2w
oy 502§
% ‘; '? Dol
- L .
.@ THRESHOLD $ c2 §
S V. .a
O C Ll
8 2o e<
=
<C
L
15 i
———————— ) =< %
W 8| B3
i O
L Sl
~— 0.058" 2 g .
3 s |8 Se
2“ I 2 ;l g
.. 35
‘ ol g g
[a] — =
| | 2 % 3
I | (o8 (a1
&
@ ANCHOR BRACKET
2
575" o
]
o
~—1.937" —— p—T1887 —= &
| 1
& o —— SPOT WELDED 0.75" = .
k. \ i Z-BRACKET i |<_E
(&)
_ﬁ‘ 2
0.063" ——l=— T oATE: 8/31/15
@ GLAZING BEAD BHE  N.T.S.
DWG. BY: JK
@ MULLION CHK. BY: LES
DRAWING NO.:
FL—18506.6
SHEET 9 oF _9

© 2015 R.W. BUILDING CONSULTANTS INC.



